
1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

D D

C C

B B

A A

S.Hofmann
mcu@shotech.de
http://www.shotech.de

VLCD temperature / humidity display
Sid15721

24.12.2024 00:12:33
LCD-VLGEM1277-01-Temp1-Sheet1.SchDoc

Title

Size: Description:

Date:
File:

Revision:Sheet ofTime:
A3

0.01 1

PA7/SS1

PC0/TxD 2PC1/RxD 3PC2/SDA4

PC3/SCL5

VDDIO2 6

PD1/TCA17

PD2/TCA28

PD3/TCA39

PD410

PD511

PD6/DAC12

PD713

VDD 14

GND 15

XTAL32/PF0 16XTAL32/PF1 17

RST/PF6 18PF7/UPDI19

VDD 20

GND 21

XTAL1/PA0 22

XTAL2/PA1 23

TCB0/PA2 24TCB1/PA3 25

PA4/MOSI26 PA5/MISO27 PA6/SCK28

U2

AVR64DD28

SDA
SCL

/RST 1

/CS 2

A0 3

SCLK 4

MOSI 5

EN_BL 6

PWM 7

VCC 8

GND 9

GND 10

X1

CON-VLCD

VDD1

SDA2

GND3

SCL4

X4

CON-ATH25

CON-ATH20

1
2
3
4

X5

Vin+1

GND

2

Vout+ 3

R-78K3.3-1.0
U3

1uF
C15

1uF
C16

33µF/25V

C14

1

2
3

BU1

DC005

1

2

X6

CON AK500

1N5819

D1

GND

+5V

PC0/TxD1

PC1/RxD2

PC23

PC34

VDD5

GND6

PC47

PC58

PD09

PD110

PD211

PD312

PD413

PD514

PD615

PD716

AVDD17

GND18

PE019

PE120 PE2 21PE3 22(TOSC1)PF0 23(TOSC2)PF1 24PF2 25PF3 26PF4 27PF5 28RESET/PF6 29UPDI 30VDD 31GND 32(EXTCLK)PA0 33WO1/PA1 34SDA/PA2 35SCL/PA3 36MOSI/PA4 37MISO/PA5 38SCK/PA6 39SS/PA7 40

NC 1

OUT5

GND4

VCC8

18,4320MHz

1 2
Q1

22pF
C12

22pF
C11

10
0n

F/
50

V

C8

10
0n

F/
50

V

C9
100nF/50V
C7

1uF

C10

4k7
R6

4k7
R5

W1 W2

ML10

NC1 GND 2

UPDI3 VCC 4

NC5 nRST 6

NC7 NC 8

NC9 NC 10

X3

UPDI-CON

UPDI1 VCC 2

NC3 NC 4

NC5 GND 6

X2

33µF/25V
C2

+5V

+5V

+5V

+5V

+5V

+5V

+5V

+5V

GND

GND

GND

GND

+5V

GND

10
0n

F/
50

V

C1

0RR2
0RR1

/CS
/RST_LCD

A0
SCLK
MOSI
EN_BL
PWM

GND

GND

GND

GND

GND GND GND GND
GND

D2

LE
D

_3
m

m
_R

ED
_E

470R
R7

/RESET

10k

R3

47nF
C3

GND
UPDI

Q2
BP103

10k

R4

GND

+5V

AIN16

Optional

not included on PCB!

sp
ac

er
 b

ol
ts

 M
3 

11
x6

m
m

SN1

sp
ac

er
 b

ol
ts

 M
3 

11
x6

m
m

SN2

sp
ac

er
 b

ol
ts

 M
3 

11
x6

m
m

SN3

Circuit board

Circuit board

KL1

Head Screws M3 x 5

HS6

Head Screws M3 x 5

HS3

Head Screws M3 x 5

HS1

Head Screws M3 x 5

HS5
Head Screws M3 x 5

HS4

Head Screws M3 x 5

HS2

Circuit socket DIP28-PZ 7.62pi

CS1

Variant 3.3V of LCD-VLGEM1277-01-Temp1

PIBU101 

PIBU102 

PIBU103 

COBU1 

PIC101 

PIC102 COC1 PIC201 

PIC202 
COC2 

PIC301 

PIC302 
COC3 

PIC701 

PIC702 
COC7 

PIC801 

PIC802 COC8 

PIC901 

PIC902 COC9 

PIC1001 PIC1002 

COC10 

PIC1101 

PIC1102 
COC11 

PIC1201 

PIC1202 
COC12 

PIC1401 

PIC1402 
COC14 

PIC1501 

PIC1502 
COC15 

PIC1601 

PIC1602 
COC16 

COCS1 

PID101 PID102 

COD1 PID20A 
PID20K 

COD2 COHS1 COHS2 

COHS3 COHS4 

COHS5 
COHS6 

COKL1 

PIQ101 PIQ102 

COQ1 

PIQ201 
PIQ202 

PIQ203 

COQ2 

PIR101 PIR102 
COR1 

PIR201 PIR202 
COR2 

PIR301 PIR302 

COR3 

PIR401 PIR402 

COR4 

PIR501 

PIR502 
COR5 

PIR601 

PIR602 
COR6 

PIR701 

PIR702 
COR7 

COSN1 COSN2 COSN3 

PIU201 

PIU202 

PIU203 PIU204 

PIU205 

PIU206 

PIU207 

PIU208 

PIU209 

PIU2010 

PIU2011 

PIU2012 

PIU2013 

PIU2014 

PIU2015 

PIU2016 

PIU2017 

PIU2018 PIU2019 

PIU2020 

PIU2021 

PIU2022 

PIU2023 

PIU2024 

PIU2025 

PIU2026 

PIU2027 

PIU2028 

COU2 

PIU301 

PIU302 

PIU303 

COU3 

PIW101 

PIW102 
COW1 

PIW201 

PIW202 
COW2 

PIX101 

PIX102 

PIX103 

PIX104 

PIX105 

PIX106 

PIX107 

PIX108 

PIX109 

PIX1010 

COX1 

PIX201 PIX202 

PIX203 PIX204 

PIX205 PIX206 

COX2 

PIX301 PIX302 

PIX303 PIX304 

PIX305 PIX306 

PIX307 PIX308 

PIX309 PIX3010 

COX3 

PIX401 

PIX402 

PIX403 

PIX404 

COX4 

PIX501 

PIX502 

PIX503 

PIX504 

COX5 

PIX601 

PIX602 

COX6 

PIC102 PIC201 

PIC702 

PIC802 PIC902 

PIC1002 

PIC1401 PIC1602 

PID20A 

PIQ203 

PIR302 

PIR502 PIR602 

PIU206 

PIU2014 

PIU2020 

PIU303 

PIX108 

PIX202 

PIX304 

PIX401 

PIX501 

PIU201 

PIX102 
NL0CS 

PIC302 

PIR301 

PIU2018 

PIX306 

NL0RESET 

PIU2013 

PIX101 
NL0RST0LCD 

PIU2011 

PIX103 
NLA0 

PIQ201 
PIR402 

PIU2016 

NLAIN16 

PIR102 

PIU2010 

NLEN0BL 

PIBU102 

PIBU103 

PIC101 PIC202 

PIC301 

PIC701 

PIC801 PIC901 

PIC1001 

PIC1101 PIC1201 

PIC1402 PIC1501 PIC1601 

PIR401 

PIR701 

PIU2015 

PIU2021 

PIU302 

PIX109 

PIX1010 

PIX206 

PIX302 

PIX403 

PIX503 

PIX602 

PIU2026 

PIX105 
NLMOSI 

PIBU101 

PID101 

PIX601 

PIC1102 
PIQ101 

PIU2023 

PIC1202 
PIQ102 

PIU2022 

PIC1502 
PID102 PIU301 

PID20K 
PIR702 

PIQ202 

PIR101 PIX106 

PIR201 PIX107 

PIR501 

PIW102 

PIR601 

PIW202 

PIU202 

PIU203 

PIU208 

PIU209 

PIU2012 

PIU2017 

PIU2024 

PIU2025 

PIU2027 

PIX203 PIX204 

PIX205 

PIX301 

PIX305 

PIX307 PIX308 

PIX309 PIX3010 

PIR202 

PIU207 

NLPWM 

PIU205 

PIW201 

PIX404 

PIX504 

NLSCL 

PIU2028 

PIX104 
NLSCLK 

PIU204 

PIW101 

PIX402 

PIX502 

NLSDA 
PIU2019 

PIX201 

PIX303 

NLUPDI 



PABU103 
PABU102 

PABU101 
COBU1 

PAC102 PAC101 

COC1 

PAC201 PAC202 

COC2 

PAC301 PAC302 

COC3 

PAC702 PAC701 COC7 

PAC802 

PAC801 
COC8 

PAC902 

PAC901 
COC9 

PAC1002 PAC1001 
COC10 

PAC1102 

PAC1101 COC11 

PAC1202 

PAC1201 
COC12 

PAC1401 PAC1402 

COC14 

PAC1502 

PAC1501 

COC15 

PAC1602 PAC1601 
COC16 

PAD101 

PAD102 

COD1 

PAD20A PAD20K 

COD2 

PAQ101 

PAQ102 

COQ1 

PAQ203 
PAQ202 

PAQ201 COQ2 

PAR101 

PAR102 
COR1 

PAR201 

PAR202 
COR2 

PAR301 

PAR302 
COR3 

PAR401 PAR402 COR4 

PAR501 

PAR502 COR5 

PAR601 

PAR602 COR6 

PAR701 

PAR702 
COR7 

PAU2015 

PAU2016 

PAU2017 

PAU2018 

PAU2019 

PAU2020 

PAU2021 

PAU2022 

PAU2023 

PAU2024 

PAU2025 

PAU2026 

PAU2027 

PAU2028 

PAU2014 

PAU2013 

PAU2012 

PAU2011 

PAU2010 

PAU209 

PAU208 

PAU207 

PAU206 

PAU205 

PAU204 

PAU203 

PAU202 

PAU201 
COU2 

PAU301 PAU302 PAU303 

COU3 

PAW101 

PAW102 

COW1 

PAW201 

PAW202 

COW2 

PAX1010 PAX109 PAX106 PAX105 PAX104 PAX103 PAX102 PAX101 PAX107 PAX108 
COX1 

PAX206 PAX205 

PAX204 PAX203 

PAX202 PAX201 

COX2 

PAX302 
PAX304 
PAX306 
PAX308 
PAX3010 

PAX301 
PAX303 
PAX305 
PAX307 
PAX309 

COX3 

PAX401 
PAX402 
PAX403 
PAX404 

COX4 

PAX501 

PAX502 

PAX503 

PAX504 
COX5 

PAX602 

PAX601 

COX6 

PAC102 

PAC201 

PAC702 

PAC802 PAC902 

PAC1002 

PAC1401 
PAC1602 

PAD20A 

PAQ203 

PAR302 PAR502 PAR602 

PAU206 

PAU2014 

PAU2020 

PAU303 

PAX108 

PAX202 

PAX304 

PAX401 
PAX501 

PAU201 

PAX102 

PAC302 

PAR301 

PAU2018 

PAX306 

PAU2013 

PAX101 

PAU2011 

PAX103 

PAQ201 

PAR402 PAU2016 

PAR102 

PAU2010 

PABU102 

PABU103 PAC101 

PAC202 

PAC301 

PAC701 

PAC801 PAC901 

PAC1001 

PAC1101 

PAC1201 
PAC1402 

PAC1501 
PAC1601 

PAR401 

PAR701 

PAU2015 

PAU2021 

PAU302 

PAX109 PAX1010 

PAX206 

PAX302 

PAX403 
PAX503 

PAX602 

PAU2026 

PAX105 

PABU101 

PAD101 

PAX601 

PAC1102 
PAQ101 

PAU2023 
PAC1202 

PAQ102 
PAU2022 

PAC1502 

PAD102 

PAU301 

PAD20K PAR702 

PAR101 

PAX106 

PAR201 

PAX107 

PAR501 

PAW102 

PAR601 

PAW202 

PAR202 

PAU207 

PAU205 PAW201 

PAX404 

PAX504 

PAU2028 

PAX104 

PAU204 

PAW101 
PAX402 PAX502 

PAU2019 PAX201 

PAX303 



Bearbeiter: S. Hofmann
Tel: 040 / 
Fax. 040 / 76906856
Email: shop@shotech.de

Bill of Materials
Datum: 24. Dezember 2024
Zeit: 0:12:41

Variant:
Variant 3.3V of LCD-VLGEM1277-
01-Temp1

Bezeichnung:
VLCD temperature / humidity 
display

Revision: 0.0
Description: Sid15721

Quantity Designator Footprint Bemerkung Value MFT Order-Code Second-source shotech

1 BU1 DC10B - slot DC005 DC005-Gelb 923
4 C1, C7, C8, C9 CAP_Radial_5MM 100nF/50V/±10%/X7R/RM 5.08 100nF/50V Vishay / BC Components K104K15X7RF53H5 C322C104K5R5TA - shotech 1347
2 C2, C14 CAPPR5-5x7 KS 33uF 25V 20% 5x7/2,5 33µF/25V Chang Yang KS1E330MC070B25CV0 1346
1 C3 CAP_Radial_5MM

Keramik-Vielschichtkondensator MLCC – 100volts 0.047uF 10% X7R 
Radial 47nF TDK FA24X7R2A473KNU00

3 C10, C15, C16 CAP_Radial_5MM CAP CER 1UF 50V X7R RADIAL 1uF KEMET C330C105M5R5CA7303 1414
1 CS1 Circuit socket DIP28-PZ 7.62pi

Circuit socket DIP28-PZ 
7.62pi MPE 001-5-028-3-B1STF-XT0 1520

1 D1 DO41 Schottky Dioden & Gleichrichter 1.0A 40V 1N5819 Taiwan Semiconductor 1N5819 R0 1568
1 D2 LED3MM - spacer - red LED diffus rot 80mcd 45° 3mm LED_3mm_RED Everlight 204-10SURD/S530-A3 1321
6 HS1, HS2, HS3, HS4, HS5, HS6 Head Screws M3 x 5 Head Screws M3 x 5 TR FASTENINGS 2648
1 KL1 Circuit board Circuit board frei 2638
2 R1, R2 RES6.5-3.4X1.9 Metallsch. 0204 1/4W 1% 0R frei frei
1 R3 RES6.5-3.4X1.9 WIDERSTAND, 204, axial, 1% 10k frei frei 1253
2 R5, R6 RES6.5-3.4X1.9 WIDERSTAND, 204, axial, 1% 4k7 frei frei 1248
1 R7 RES6.5-3.4X1.9 WIDERSTAND, 204, axial, 5% 470R YAGEO CFR-25SJT-52-470R 2069
3 SN1, SN2, SN3 spacer bolts Polyamid M3 11mmx6mm, spacer bolts M3 11x6mm frei 2650
1 U2 28P3 AVR, 64KB Flash, 8KB SRAM, PDIP28 AVR64DD28 Microchip AVR64DD28-I/SP 2104
1 U3 R-78K DC/DC Conv SIP3 6,5-36V 5V 1A R-78K3.3-1.0 Recom R-78K3.3-1.0 2644
2 W1, W2 JP1 Jumper RM2,54, rot JUMP-RT JUMP-RT
1 X1 1X10 - VLCD Stiftleiste 10pol. 10pol. Buchsenleiste CON-VLCD
1 X2 ML6 Stiftleiste, Wire-to-Board, 2.54 mm, 2 Reihe(n), 6 Kontakt(e) UPDI-CON AMPHENOL ICC 75869-131LF Harting - 09 18 506 6324 2114
1 X3 ML10 - 1.27mm Winkel CONN, HEADER, 10POS, 2ROW, 1.27MM ML10 AMPHENOL ICC 20021511-00010T4LF
1 X4 1X4 - 1.27mm - 90G CON-ATH25
1 X5 1X4 CON-ATH20
1 X6 AK500/2 AR-Klemmen 250V 2pol grau ARK500/2 PTR-Messtechnik AK500/2DS-5,0-V/GRAU 1576

40


	Schematic Prints("All Documents",Physical)
	LCD-VLGEM1277-01-Temp1-Sheet1.SchDoc(LCD-VLGEM1277-01-Temp1-Sheet1)
	Components
	BU1
	BU1-1
	BU1-2
	BU1-3

	C1
	C1-1
	C1-2

	C2
	C2-1
	C2-2

	C3
	C3-1
	C3-2

	C7
	C7-1
	C7-2

	C8
	C8-1
	C8-2

	C9
	C9-1
	C9-2

	C10
	C10-1
	C10-2

	C11
	C11-1
	C11-2

	C12
	C12-1
	C12-2

	C14
	C14-1
	C14-2

	C15
	C15-1
	C15-2

	C16
	C16-1
	C16-2

	CS1
	D1
	D1-1
	D1-2

	D2
	D2-A
	D2-K

	HS1
	HS2
	HS3
	HS4
	HS5
	HS6
	KL1
	Q1
	Q1-1
	Q1-2

	Q2
	Q2-1
	Q2-2
	Q2-3

	R1
	R1-1
	R1-2

	R2
	R2-1
	R2-2

	R3
	R3-1
	R3-2

	R4
	R4-1
	R4-2

	R5
	R5-1
	R5-2

	R6
	R6-1
	R6-2

	R7
	R7-1
	R7-2

	SN1
	SN2
	SN3
	U2
	U2-1
	U2-2
	U2-3
	U2-4
	U2-5
	U2-6
	U2-7
	U2-8
	U2-9
	U2-10
	U2-11
	U2-12
	U2-13
	U2-14
	U2-15
	U2-16
	U2-17
	U2-18
	U2-19
	U2-20
	U2-21
	U2-22
	U2-23
	U2-24
	U2-25
	U2-26
	U2-27
	U2-28

	U3
	U3-1
	U3-2
	U3-3

	U3
	U3-1
	U3-2
	U3-3

	U3
	U3-1
	U3-2
	U3-3

	W1
	W1-1
	W1-2

	W2
	W2-1
	W2-2

	X1
	X1-1
	X1-2
	X1-3
	X1-4
	X1-5
	X1-6
	X1-7
	X1-8
	X1-9
	X1-10

	X2
	X2-1
	X2-2
	X2-3
	X2-4
	X2-5
	X2-6

	X3
	X3-1
	X3-2
	X3-3
	X3-4
	X3-5
	X3-6
	X3-7
	X3-8
	X3-9
	X3-10

	X4
	X4-1
	X4-2
	X4-3
	X4-4

	X5
	X5-1
	X5-2
	X5-3
	X5-4

	X6
	X6-1
	X6-2


	Nets
	+5V
	Pins
	C1-2
	C2-1
	C7-2
	C8-2
	C9-2
	C10-2
	C14-1
	C16-2
	D2-A
	Q2-3
	R3-2
	R5-2
	R6-2
	U2-6
	U2-14
	U2-20
	U3-3
	U3-3
	U3-3
	X1-8
	X2-2
	X3-4
	X4-1
	X5-1


	/CS
	Pins
	U2-1
	X1-2

	NetLabels
	/CS


	/RESET
	Pins
	C3-2
	R3-1
	U2-18
	X3-6

	NetLabels
	/RESET


	/RST_LCD
	Pins
	U2-13
	X1-1

	NetLabels
	/RST_LCD


	A0
	Pins
	U2-11
	X1-3

	NetLabels
	A0


	AIN16
	Pins
	Q2-1
	R4-2
	U2-16

	NetLabels
	AIN16


	EN_BL
	Pins
	R1-2
	U2-10

	NetLabels
	EN_BL


	GND
	Pins
	BU1-2
	BU1-3
	C1-1
	C2-2
	C3-1
	C7-1
	C8-1
	C9-1
	C10-1
	C11-1
	C12-1
	C14-2
	C15-1
	C16-1
	R4-1
	R7-1
	U2-15
	U2-21
	U3-2
	U3-2
	U3-2
	X1-9
	X1-10
	X2-6
	X3-2
	X4-3
	X5-3
	X6-2


	MOSI
	Pins
	U2-26
	X1-5

	NetLabels
	MOSI


	NetBU1_1
	Pins
	BU1-1
	D1-1
	X6-1


	NetC11_2
	Pins
	C11-2
	Q1-1
	U2-23


	NetC12_2
	Pins
	C12-2
	Q1-2
	U2-22


	NetC15_2
	Pins
	C15-2
	D1-2
	U3-1
	U3-1
	U3-1


	NetD2_K
	Pins
	D2-K
	R7-2


	NetQ2_2
	Pins
	Q2-2


	NetR1_1
	Pins
	R1-1
	X1-6


	NetR2_1
	Pins
	R2-1
	X1-7


	NetR5_1
	Pins
	R5-1
	W1-2


	NetR6_1
	Pins
	R6-1
	W2-2


	NetU2_2
	Pins
	U2-2


	NetU2_3
	Pins
	U2-3


	NetU2_8
	Pins
	U2-8


	NetU2_9
	Pins
	U2-9


	NetU2_12
	Pins
	U2-12


	NetU2_17
	Pins
	U2-17


	NetU2_24
	Pins
	U2-24


	NetU2_25
	Pins
	U2-25


	NetU2_27
	Pins
	U2-27


	NetX2_3
	Pins
	X2-3


	NetX2_4
	Pins
	X2-4


	NetX2_5
	Pins
	X2-5


	NetX3_1
	Pins
	X3-1


	NetX3_5
	Pins
	X3-5


	NetX3_7
	Pins
	X3-7


	NetX3_8
	Pins
	X3-8


	NetX3_9
	Pins
	X3-9


	NetX3_10
	Pins
	X3-10


	PWM
	Pins
	R2-2
	U2-7

	NetLabels
	PWM


	SCL
	Pins
	U2-5
	W2-1
	X4-4
	X5-4

	NetLabels
	SCL


	SCLK
	Pins
	U2-28
	X1-4

	NetLabels
	SCLK


	SDA
	Pins
	U2-4
	W1-1
	X4-2
	X5-2

	NetLabels
	SDA


	UPDI
	Pins
	U2-19
	X2-1
	X3-3

	NetLabels
	UPDI





	Composite Drawing
	LCD-VLGEM1277-01-Temp1.PcbDoc
	Multilayer Composite Print
	Components
	BU1
	BU1-3
	BU1-2
	BU1-1

	C1
	C1-2
	C1-1

	C2
	C2-1
	C2-2

	C3
	C3-1
	C3-2

	C7
	C7-2
	C7-1

	C8
	C8-2
	C8-1

	C9
	C9-2
	C9-1

	C10
	C10-2
	C10-1

	C11
	C11-2
	C11-1

	C12
	C12-2
	C12-1

	C14
	C14-1
	C14-2

	C15
	C15-2
	C15-1

	C16
	C16-2
	C16-1

	D1
	D1-1
	D1-2

	D2
	D2-A
	D2-K

	Q1
	Q1-1
	Q1-2

	Q2
	Q2-3
	Q2-2
	Q2-1

	R1
	R1-1
	R1-2

	R2
	R2-1
	R2-2

	R3
	R3-1
	R3-2

	R4
	R4-1
	R4-2

	R5
	R5-1
	R5-2

	R6
	R6-1
	R6-2

	R7
	R7-1
	R7-2

	U2
	U2-15
	U2-16
	U2-17
	U2-18
	U2-19
	U2-20
	U2-21
	U2-22
	U2-23
	U2-24
	U2-25
	U2-26
	U2-27
	U2-28
	U2-14
	U2-13
	U2-12
	U2-11
	U2-10
	U2-9
	U2-8
	U2-7
	U2-6
	U2-5
	U2-4
	U2-3
	U2-2
	U2-1

	U3
	U3-1
	U3-2
	U3-3

	W1
	W1-1
	W1-2

	W2
	W2-1
	W2-2

	X1
	X1-10
	X1-9
	X1-6
	X1-5
	X1-4
	X1-3
	X1-2
	X1-1
	X1-7
	X1-8

	X2
	X2-6
	X2-5
	X2-4
	X2-3
	X2-2
	X2-1

	X3
	X3-2
	X3-4
	X3-6
	X3-8
	X3-10
	X3-1
	X3-3
	X3-5
	X3-7
	X3-9

	X4
	X4-1
	X4-2
	X4-3
	X4-4

	X5
	X5-1
	X5-2
	X5-3
	X5-4

	X6
	X6-2
	X6-1


	Nets
	+5V
	C1-2
	C2-1
	C7-2
	C8-2
	C9-2
	C10-2
	C14-1
	C16-2
	D2-A
	Q2-3
	R3-2
	R5-2
	R6-2
	U2-6
	U2-14
	U2-20
	U3-3
	X1-8
	X2-2
	X3-4
	X4-1
	X5-1

	/CS
	U2-1
	X1-2

	/RESET
	C3-2
	R3-1
	U2-18
	X3-6

	/RST_LCD
	U2-13
	X1-1

	A0
	U2-11
	X1-3

	AIN16
	Q2-1
	R4-2
	U2-16

	EN_BL
	R1-2
	U2-10

	GND
	BU1-2
	BU1-3
	C1-1
	C2-2
	C3-1
	C7-1
	C8-1
	C9-1
	C10-1
	C11-1
	C12-1
	C14-2
	C15-1
	C16-1
	R4-1
	R7-1
	U2-15
	U2-21
	U3-2
	X1-9
	X1-10
	X2-6
	X3-2
	X4-3
	X5-3
	X6-2

	MOSI
	U2-26
	X1-5

	NetBU1_1
	BU1-1
	D1-1
	X6-1

	NetC11_2
	C11-2
	Q1-1
	U2-23

	NetC12_2
	C12-2
	Q1-2
	U2-22

	NetC15_2
	C15-2
	D1-2
	U3-1

	NetD2_K
	D2-K
	R7-2

	NetR1_1
	R1-1
	X1-6

	NetR2_1
	R2-1
	X1-7

	NetR5_1
	R5-1
	W1-2

	NetR6_1
	R6-1
	W2-2

	PWM
	R2-2
	U2-7

	SCL
	U2-5
	W2-1
	X4-4
	X5-4

	SCLK
	U2-28
	X1-4

	SDA
	U2-4
	W1-1
	X4-2
	X5-2

	UPDI
	U2-19
	X2-1
	X3-3





	Bill of Materials

